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Note : Answer any five questions. All questions carry equal

marks.

1. (a)

(b)

(b)
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Why is it important to provide ECCE
services ? Explain with reference to the
situation in India.

You have read about the basic ideas of
various educationists. Describe any five
ideas which you feel are relevant in the
context of preschool. With respect to each
idea, state the educationist whose idea it is.

5x

List the five emotions typically experienced
by parents when they discover that their
child has a disability. With respect to any
one emotion, describe the suggestions that
you will give to the parents to help them
cope with it/ manage it.

With the help of examples, explain the
impact a disability can have on a child.

10

2=10

10

10

1 PoT-Oo



3.  (a) Describe five ways/ activities through which 10
the caregiver/early childhood educator can
foster the cognitive development of a 2 year
old child with visual impairment.

(b) A 4 year old child who uses a hearing aid 10
attends a preschool. Her speech is below
what is expected of her age. Describe five
principles/suggestions you will give to the
teacher so that the child benefits from the
classrooms activities.

4. (a) What is ‘mental retardation’, and what 10
effect does it have with respect to various
areas of development of the child ?

(b)  What advice will yougiveto the parentsand 1o
preschool educator regarding management
of aggressive behaviour of the child ?

5.  (a) Youwantthe community to understand the
importance of preschool education and to
enrol the children in the preschool centre.

(i) Formulate a message to communicate 2
the above.

(i) Who will be the target audience to 2
receive the message. Why have you
chosen them ?

(iii) What method of communication will
you choose for this message and why ?
Describe the method in detail. 2+2+4
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(b) Explain the child-to-child strategy of 4
communication.
(c) Formulate a message that you will 4
communicate through this strategy.
Describe why this strategy would be
appropriate for communicating the
message.
6 (@) Describe the skills associated with effective g
management of an ECCE centre.
(b) What are the unique features of the ICDS 6+6
- Programme ? What are the problems in the
implementation of the ICDS programme ?
7.  Write about any two of the following in about
350400 words each : 10+10=20
(@) Early intervention for a child with cerebral
palsy.
(b) Meaning of special education and its
features.
(c) Strengthen of the Mobile Creches
programme.
DECE-3 3 P.T.O.



#idi-3
rifire sTeaTERen YT ©E e # fwi

|Ad e
feawr, 2010
ATWHE -3 . w= F fAg Yad @ wEFT
99T : 3 e 31frFaq 3% : 100
Hie: [ uia 7oA F S AT it 7o & 3% U
g1
1. (2) SeEEJard yor Fom R e €2 R 10
i fearfar 3 e ® avia FfSQ)

) T fafim faefa & e foremd & IR ¥ va
) W 5 dfa el @ avi Sty 5=
oy S ey gl # i s €
v forar ¥ dedd # s fF =% faem fea
fovfers =1 1 »x2=10

2. (a) & =R H g T oo € 6 SR S 10
15 ¥ A 39 g 98 A el S
F § 31 5 faftre wETsl @ gEies Hifsl
ol 9 et T wE % dey #, Ta] 6
T8 Preed/um w1 % fag a9 wma-faa
o F gAE <7 ?

DECE-3 5 P.T.O.



(b)

(b)

(b)

DECE-3

T W A F N IWE T 3 STt
I WERA § W Hif )

S e Tl el w1 aof Fife s Ty
@é@mmmﬁwmmﬁfmm
I T = & AT A B T
T TRl ®)

TH IR W I S g0 Gerw ar
TA A T, WA W § Wl ¥ swa
ST ST 3Y T R v A w1 Ol
el fagial #1 9ol e St ey Rrfrs |y
XN wfE T= wen F DY awh TRifaRey @
If-ad & "F |

‘AR e R ? a=R F e ¥ e
%ﬁ%@?ﬁﬁmﬁmwwwaugm
77

T & SHTS R I Froey/ et 9 ¥
Ty T 319 3% AN ok vy fafae
H H g S ?

3T W 1 Arrgd et & wee g

3R wreqd g § s AT S e

g

@) ST w W\ FA F o w1
TR TSy

6

10

10

10

10

10



(i) T B W@ HH T A AAM DA N2 2
39 I | g2
(i) oA SER & HA R fAfu R g2 W
Fi gw? dar fafu =1 fowmr @ avF
T ' 2+2+4
(b) TOR H TETE-I-<nReS FRAN @ THEL 4
S| |
() TH U@ oW d9R #ifse st ome 3@ fafy 4
(TETe-2-ARee) | N ? 39 Haw &I wifvd
F % fau gz sriHfa wqfaa =0 et ?

6. (a) SHWL FEF Y TR A S I 1 8
' JUH HIfT |
(b) o.M wy FEFEH H Al vl = 646
¥? 39 wwd ¥ wEEE ¥ w1 g S
g2

7. fTrafafga @ @ = @ | (&S W 9T
350—400 w1 #) fafEw 10+10=20
(a) AR S At ST 1 YR a4
(b) o forem ot aref oiR Swan! fordroard
() e a w whwE

DECE-3 7



